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Todag) a mother's age is two years more than double

her son's age. ]n ten years, thlc their ages

will be 2040. How old are theg toclag ? iv_l:"'_vi‘jlts
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T he (Quadratic Iormula

%
T he area of this Figure s 5x — 3
equal to 103.75cm” <
termine th ical
Determine the numerica @ "y
1eng’ch of each side .

=1
Zx; %%x—§)+(3xi +§§i Zx—l):103.75

10x> —6x+21x —3xj;35x—5=103.75
31x? +26x 5=103.75

s3I ~03.3¢
31x* +26x—108.75=0
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2 tos 75— RS

The c]uadratic formula Provides a solution to any

quadratic (seconchegree) equation.

ax’ +bx+c=0
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B —bi\/b2 —4ac
2a

X

Examplc—:: ax2 + bx +c=(
31x" +26x-108.75=0
a

b C @.\

26+ /26 —4(31)(~108.75)
X =
2(31) s 42
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bx — 3 =4.5

8x+2=14 Sx—1=6.5

Ix +5=9.5

Ix—1=95
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Examp]e: ;\\ /b\ /C\ X= ’btml—"acT
Solve 15x° _ZX_SO answey s (&) 2
1
2t (-2)7-4(15)(-8) = Vd-4093)
2(15)
x_24_r\/4+480
30
x_2ix/484
30
2422
X =
30
_2-22_ 20 2

2422 24 4
X = =—=—  or X
I 30 30 5 2 30 30 3
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~b¥ lb*-dac

Solve X = Za

2) Ix* —6x-91=0
x=+_6%w-m‘
X: 6 EV0
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L) 9x*+30x+25=0

= =30 i\}%m 4(a)(25) ‘
Q(q) T

X=-3p* W

—
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Xz -30td - ~-30
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s 15

X = 2
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&) 5x*+9x+12=0

xe ~2 \ 540"

9\(5) N o ¥ (AL

X=-9 t@—\sﬁ ‘) vedes
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The Discriminant (A)
- the Portion under the root sign: A= b2 —4ac

I ..
(+)

2
b —4dac >0 there are ,Z_real answers

2 ,
b*—4ac=0 thcre Is one rea] answer

2 -y
b*—4ac < 0 there are mreal answers
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